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= 21,000
s 9,000
03 AlE 2 THHI 18,453 15,000 3,453
o BERMYDl +=HFEH Xt
4,613,250 * 43| 18,453
= 12,917
s 5,536
Al Fotd 2te| 461,078 234,605 226,473
= 3,596
< 29,520
s 427,962
AFZoE el & SA23 e 461,078 234,605 226,473
= 3,596
< 29,520
[ia 427,962
AE Y SESAA4Y 2l 141,822 79,833 61,989
= 556
< 28,000
s 113,266
201 Let249] 14,822 13,713 1,109
=2 556
[ia 14,266
01 At 22l 11,268 10,715 553
< Yeh=ZHl > 0
o AlEE 2 SARINE 222 MH
300& * 10,0000H 3,000
o MU =X ARSE 7Y
80,000& » 12& 960
<2gsy > 0
o MEMAANAMO A HAaY
70,0003 = 78 « 43| 1,960
o NBHEIZNOAAS HA &g
70,0003 = 53 « 23| 700
< SEH|l > 0
o MHRF FA 7,000% * 49 * 166 4,648
02 232gHl 3,554 2,998 556
<3S ZLAHAM > 0
o 2 23 2703 = 1,100 A& = 23| 594
o RESHASZ HMote=s 4,000 * 12& 48
o MEIMAANY HEH(ZZR3)
92,6603 « 123 1,112
= 556
e 556
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EX: sH3Es
M AZOEBD
et AEBOIX 2ol Y SARE N CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o AEQQMUAIL S=H(2222)(2HI=It)
50,000 * 3% x 12&€ 1,800
202 o4 | 6,400 5,520 880
01 2Ll 6,400 5,520 880
o ML U BUYY SEYD =X
20,000 *~ 4% x 80¥ 6,400
206 M = Hl 600 600 0
01 X2 H| 600 600 0
o AMELD AAMME 5,000& * 1024 = 12&€ 600
402 SI2tXHE0| ™ 120,000 60,000 60,000
& 28,000
o 92,000
01 QI2tXE8 X 120,000 60,000 60,000
o 24 UL =25Y' XF 2Y
0,000,000& * 6IH A 120,000
o= 28,000
= 92,000
SASIMAE L E2AC =X ALY 306,836 143,652 163, 184
201 et | 57,836 35,652 22,184
01 AP 22| d| 57,836 35,652 22,184
< dBkx=Z2H| > 0
o DHSAA HIL 110,000& = 1024 1,100
o HAHHEN2 XEE =222 HE 18,000
- E Xl 300,000& = 10J0 £ 3,000
- =282 1,000€ = 15,0000H 15,000
o RUSAH MYIIZE N
8,4002 * 4000 * 260 A 8,736
o HSIIW SAFY ALY 54
1,000,000& * 2000 A&~ 20,000
<2gsy > 0
o S4FE BRI ALY
100,000€ = 10AlI2F = 10002 10,000
307 2Iz2to| & 61,000 38,000 23,000
02 QI2tAH AP X 36,000 38,000 A 2,000
o ME3SAHE AL #IX 0O
4,000,000& = 13 4,000
o NMESAHE AMEE X 28,000
- YME(2X0) 10,000 = 5000 * 4004 A 20,000
- M ED 4,000€ = 5008 * 4000 A 8,000
o YESAESZEX EOHHl X&
2,000,000& * 2IHA = 13 4,000
05 QIZtRES 25,000 0 25,000
o A4 E33A Y 4
5,000,000& = 54l 25,000
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EX: sH3Es
M AZOEBD
et AEBOIX 2ol Y SARE N CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| & 188,000 70,000 118,000
01 Q228 X 188,000 70,000 118,000
o SAIA AM&H XN (M2SHMEE2D &X)
6,000,000& * 200HA * 50% 60,000
o SAAE ANEIMEH K&
10,000,000 * 10002 * 50% 50,000
o SAE SFEA AE XN 50,000
- A AX 20,000,000& = 5J0 A * 50% 50,000
o ULISAA AMA=EZE)| AX XN
150,000& * 207K 3,000
o SAS MYDl ZEHII
5,000,000& = 54 25,000
AHIXZAIS &= 12,420 11,120 1,300
= 3,040
= 1,520
= 7,860
301 LBt A= 12,420 11,120 1,300
= 3,040
== 1,520
= 7,860
10 HAFAHI B a2 700 0 700
o MESIMAANES S|
7,0008 x 259 x 44! 700
12 JIEtE2 A= 11,720 11,120 600
o OZI0IAE OHHESRN 22| U JSAE
ANE=dEA 40,0008 ~ 6Y = 10¢ 2,400
o Helol ¥s2ie o™ N
3,560,000& 3,560
= 1,780
& 890
= 890
o ALIHZAIE &= 2,520,000& 2,520
= 1,260
= 630
= 630
o AHIKNASAMAAE &SH|
40,000€ * 81 3,240
HESAAH(HFES W) 1,536,364 1,298,442 237,922
ol 2oy 1,515,544 1,277,100 238,444
ol =AY 1,515,544 1,277,100 238,444
101 Q121 H] 1,515,544 1,277,100 238,444
01 2 71,740 37,564 34,176
< =g > 0
o ARS2R4g
7,909 x 18H * 30AI2t x 12& 51,251
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SN #EESD
M HY2IZH(#ZESD)
gel: o2yl eEH)
SA - BB (3) - NRALY - BES Of & o8 il HI RS2
o N2 2L (FAXEIIA
7,1143 = 8H  30AI2t » 12 20,489
03 I AHA2 22+ 1,443,804 1,239,536 204,268
< 20l 29Y > 0
o =5 1,454,8463 * 299 » 12 506,287
o o= 283,090
- Jlg==e 51,470,534& * 50% * 43| 102,942
-82=¢ 51,470,534& = 50% * 23l 51,471
- MEc@ 51,470,534& * 250% 128,677
o MG 78,120
- SR 90,0003 = 29Y% = 123 31,320
- AYEA+E 70,0002 * 29 = 12& 24,360
- E==E 22,440
i < Xt 40,0002 = 198 = 12& 9,120
JIEFIHS 20,0003 = 459 = 123 10,800
AU KA 70,000& = 3H « 128 2,520
o Sl 117,445
- dHgAH| 160,000& = 299 » 12& 55,680
- EFOHI 51,470,534& * 0.6 * 23l 61,765
o No2RLY
6,562 * 29AI2t = 29 x 150% * 12& 99,336
o EX=3 50,000,000& = 4H 200,000
o 5Y2R4+y
57,5743 = 29 = 12 * 150% ~ 128 30,054
o AXtRaFIH=sg 57,5743 » 2998 » 17 28,384
o NUHEHEXZSY 10,753
-1 =X 409,450 = 2% = 43] 3,276
-n2sX 373,850 * 5% = 43| 7,477
o HAM =H 100,000& * 299 » 123 34,800
o ZAldl 19,285
- HANEESHESA
7,0008 * 29H = 35%] 7,105
- MEES 224
6,000& * 29H = 352 6,090
- RY2ZR /A2 =4
7,000& * 29H * 302/ 6,090
o M= 36,250
- AYgs HYS, 2HPY(SE)
300,000& » 29H * 23] 17,400
- AYgs HYs, 2H7Y (5t E)
300,000& * 299 * 23 17,400
- $Z0Igt X P
25,0003 = 29H =« 23| 1,450
Jl= &l 20,820 21,342 A 522
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EX: sH3Es
HM: M 22HAH (BB ES W)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Jl2 &4l 20,820 21,342 N 522
201 LBt 9 ]| 16,620 17,142 NB22
01 AP 22| H| 16,620 15,324 1,296
< dBtEEH| > 0
o HEAIRZE2E 22 20,0008 * 12 ~ 12&€ 2,880
o der=g 4,440
- 32X 15,000& » 65 ~ 12& 1,080
- X &X 10,0008 * 288 x 12&€ 3,360
o Telfy EY 250,000& = 70H ~ 3& 5,250
o EAEX 25,000& = 238tA « 62 3,450
o ALD| &2l 50,000& = 12& 600
203 €2 F=&d| 4,200 4,200 0
04 ENSIELRFXH| 4,200 4,200 0
o 309Q! 0|at 350,000& » 12& 4,200
HEeEsES(+HE25 ) 464,000 164,000 300,000
WEAHA XK= 300,000 0 300,000
LHEHHX = 300,000 0 300,000
702 J|12H8E2 300,000 0 300,000
[P RSE= 300,000 0 300,000
o HIIZE M2lAlE FEHXYE FO0XJAII2 &
=2 300,000,000& = 13 300,000
BHEX= 164,000 164,000 0
BEIE 164,000 164,000 0
311 X 20| AHA & 24,000 24,000 0
06 JIEFXF 20| Xp A&t 24,000 24,000 0
o MYIJIHEE A22AIE JHAE Ol KpaHE
6,000,000& * 43| 24,000
601 Xl 2| 24 &t 140,000 140,000 0
06 JIEI=UXIL 2 ASAE 140,000 140,000 0
o MYIJIHEE A22AIE HE /S 4E
35,000,000& * 43| 140,000
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